

Homology of 3-dimensional Lie algebras

Ragan Moore

Undergraduate Studies in Mathematics, Georgia College & State University
Department of Mathematics, Georgia College & State University
Campus Box 17 Milledgeville, GA 31061-0490
E-mail address: ragan.moore@bobcats.gcsu.edu

1 Abstract

In this paper, we calculate the Lie algebra homology of all three dimensional Lie algebras in the classification provided by **Bianchi** [1].

2 Introduction

Recall from [2] that a Lie algebra \mathfrak{g} is a vector space over a field F together with a binary operation

$$[\cdot, \cdot] : \mathfrak{g} \times \mathfrak{g} \longrightarrow \mathfrak{g}$$

called the Lie bracket, which satisfies the following axioms:

- a) $[ax + by, z] = a[x, y] + b[y, z]$, $[z, ax + by] = a[z, x] + b[z, y]$ for all scalars a, b in F and all elements x, y, z in \mathfrak{g} .
- b) $[x, y] = -[y, x]$ for all elements x, y in \mathfrak{g} .
- c) $[x, [y, z]] + [y, [z, x]] + [z, [x, y]] = 0$ for all x, y, z in \mathfrak{g} , when Characteristic F is not 2.

Recall also that for a Lie algebra \mathfrak{g} , the Lie algebra homology of \mathfrak{g} with coefficients in \mathbb{R} , written $H_*^{Lie}(\mathfrak{g}; \mathbb{R})$ is the homology of the Chevalley-Eilenberg complex $\wedge^*(\mathfrak{g}; \mathbb{R})$, namely

$$\mathbb{R} \xleftarrow{\partial} \mathfrak{g} \xleftarrow{\partial} \mathfrak{g}^{\wedge 2} \xleftarrow{\partial} \dots \xleftarrow{\partial} \mathfrak{g}^{\wedge n-1} \xleftarrow{\partial} \mathfrak{g}^{\wedge n} \xleftarrow{\partial} \dots$$

where $\mathfrak{g}^{\wedge n}$ is the n th exterior power of \mathfrak{g} over \mathbb{R} , and where

$$\partial(g_1 \wedge \dots \wedge g_n) = \sum_{1 \leq i < j \leq n} (-1)^{i+j-1} [g_i, g_j] \wedge g_1 \wedge \dots \wedge \hat{g}_i \wedge \dots \wedge \hat{g}_j \wedge \dots \wedge g_n$$

where \hat{g}_i means that the variable g_i is deleted.

$$H_*^{Lie}(\mathfrak{g}; \mathbb{R}) = \frac{\ker(\partial_*)}{\text{Im}(\partial_{*+1})}. \quad (1)$$

For simplicity, in this paper we will denote $H_*^{Lie}(\mathfrak{g}; \mathbb{R})$ by $H_*^{Lie}(\mathfrak{g})$.

3 Homology of 3-dimensional Lie algebras

In 1898 [1], **Bianchi** provided a classification of three dimensional Lie algebras and proved that any three dimensional Lie algebra has the same structure as a Lie algebra in this classification. The following is **Bianchi's** classification:

Theorem 3.1 (Bianchi): *Let \mathfrak{g} be a real 3-dimensional Lie algebra. Then \mathfrak{g} is isomorphic to one of the following Lie algebras:*

Bianchi I: $[e_1, e_2] = [e_2, e_3] = [e_3, e_1] = 0$

Bianchi II: $[e_1, e_2] = 0, [e_2, e_3] = e_1, [e_3, e_1] = 0$

Bianchi IV: $[e_1, e_2] = 0, [e_2, e_3] = e_1 - e_2, [e_3, e_1] = e_1$

Bianchi V: $[e_1, e_2] = 0, [e_2, e_3] = e_2, [e_3, e_1] = e_1$

Bianchi VI_h ($h \leq 0$): $[e_1, e_2] = 0, [e_2, e_3] = e_1 - he_2, [e_3, e_1] = he_1 - e_2$

Bianchi VII_h ($h \geq 0$): $[e_1, e_2] = 0, [e_2, e_3] = e_1 - he_2, [e_3, e_1] = he_1 + e_2$

Bianchi VIII: $[e_1, e_2] = -e_3, [e_2, e_3] = e_1, [e_3, e_1] = e_2$

Bianchi IX: $[e_1, e_2] = e_3, [e_2, e_3] = e_1, [e_3, e_1] = e_2$

In the next theorems, we provide explicit calculations of the lie algebra homology of the lie algebras in this classification.

Theorem 3.2 (Bianchi I): *Let $\mathfrak{g} = \text{span}\{e_1, e_2, e_3\}$ be a Lie algebra isomorphic to **Bianchi II**, given by the brackets $[e_1, e_2] = 0, [e_2, e_3] = 0, [e_3, e_1] = 0$. Then,*

$$H_*^{Lie}(\mathfrak{g}) = \wedge^* \mathfrak{g}$$

Proof. The Chevalley-Eilenberg complex is reduced to

$$0 \xleftarrow{\partial_0} \mathbb{R} \xleftarrow{\partial_1} \mathfrak{g} \xleftarrow{\partial_2} \mathfrak{g}^{\wedge 2} \xleftarrow{\partial_3} \mathfrak{g}^{\wedge 3} \leftarrow 0$$

$$\mathfrak{g} = \text{span}\{e_1, e_2, e_3\}$$

$$\mathfrak{g}^{\wedge 2} = \text{span}\{e_1 \wedge e_2, e_2 \wedge e_3, e_1 \wedge e_3\}$$

$$\mathfrak{g}^{\wedge 3} = \text{span}\{e_1 \wedge e_2 \wedge e_3\}$$

$$\mathfrak{g}^{\wedge 4} = 0$$

$$\partial_1(e_1) = 0, \partial_1(e_2) = 0, \partial_1(e_3) = 0$$

$$\partial_2(e_1 \wedge e_2) = [e_1, e_2] = 0$$

$$\partial_2(e_2 \wedge e_3) = [e_2, e_3] = 0$$

$$\partial_2(e_1 \wedge e_3) = [e_1, e_3] = 0$$

$$\begin{aligned} \partial_3(e_1 \wedge e_2 \wedge e_3) &= (-1)^4[e_1, e_2] \wedge e_3 + (-1)^5[e_1, e_3] \wedge e_2 + (-1)^6[e_2, e_3] \wedge e_1 \\ &= 0 \end{aligned}$$

$$H_k^{Lie}(\mathfrak{g}) = \frac{\ker \partial_k}{\text{im } \partial_{k+1}} = \frac{\mathfrak{g}^{\wedge k}}{\langle 0 \rangle} = \mathfrak{g}^{\wedge k}.$$

□

Theorem 3.3 (Bianchi II): Let $\mathfrak{g} = \text{span}\{e_1, e_2, e_3\}$ be a Lie algebra isomorphic to **Bianchi II**, given by the brackets $[e_1, e_2] = 0, [e_2, e_3] = e_1, [e_3, e_1] = 0$. Then,

$$H_k^{Lie}(\mathfrak{g}) = \begin{cases} \mathbb{R}, & \text{if } k=0 \\ \langle e_2, e_3 \rangle, & \text{if } k=1 \\ \langle e_1 \wedge e_2, e_1 \wedge e_3 \rangle, & \text{if } k=2 \\ \langle e_1 \wedge e_2 \wedge e_3 \rangle, & \text{if } k=3 \\ 0, & \text{if } k > 3 \end{cases}$$

Proof. The Chevalley-Eilenberg complex is reduced to

$$0 \xleftarrow{\partial_0} \mathbb{R} \xleftarrow{\partial_1} \mathfrak{g} \xleftarrow{\partial_2} \mathfrak{g}^{\wedge 2} \xleftarrow{\partial_3} \mathfrak{g}^{\wedge 3} \leftarrow 0$$

$$\begin{aligned} \mathfrak{g} &= \text{span}\{e_1, e_2, e_3\} \\ \mathfrak{g}^{\wedge 2} &= \text{span}\{e_1 \wedge e_2, e_2 \wedge e_3, e_1 \wedge e_3\} \\ \mathfrak{g}^{\wedge 3} &= \text{span}\{e_1 \wedge e_2 \wedge e_3\} \\ \mathfrak{g}^{\wedge 4} &= 0 \end{aligned}$$

$$\begin{aligned} \partial_1(e_1) &= 0, \partial_1(e_2) = 0, \partial_1(e_3) = 0 \\ \partial_2(e_1 \wedge e_2) &= [e_1, e_2] = 0 \\ \partial_2(e_2 \wedge e_3) &= [e_2, e_3] = e_1 \\ \partial_2(e_1 \wedge e_3) &= [e_1, e_3] = 0 \end{aligned}$$

$$\begin{aligned} \partial_3(e_1 \wedge e_2 \wedge e_3) &= (-1)^4[e_1, e_2] \wedge e_3 + (-1)^5[e_1, e_3] \wedge e_2 + (-1)^6[e_2, e_3] \wedge e_1 \\ &= e_1 \wedge e_1 \\ &= 0 \end{aligned}$$

$$\begin{aligned} H_0^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_0}{\text{im } \partial_1} = \frac{\mathbb{R}}{\langle 0 \rangle} = \mathbb{R} \\ H_1^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_1}{\text{im } \partial_2} = \frac{\langle e_1, e_2, e_3 \rangle}{\langle e_1 \rangle} = \langle e_2, e_3 \rangle \\ H_2^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_2}{\text{im } \partial_3} = \frac{\langle e_1 \wedge e_2, e_1 \wedge e_3 \rangle}{\langle 0 \rangle} = \langle e_1 \wedge e_2, e_1 \wedge e_3 \rangle \\ H_3^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_3}{\text{im } \partial_4} = \frac{\langle e_1 \wedge e_2 \wedge e_3 \rangle}{\langle 0 \rangle} = \langle e_1 \wedge e_2 \wedge e_3 \rangle \quad \square \end{aligned}$$

Theorem 3.4 (Bianchi IV): Let $\mathfrak{g} = \text{span}\{e_1, e_2, e_3\}$ be a Lie algebra isomorphic to **Bianchi IV**, given by the brackets $[e_1, e_2] = 0, [e_2, e_3] = e_1 - e_2, [e_3, e_1] = e_1$. Then,

$$H_k^{Lie}(\mathfrak{g}) = \begin{cases} \mathbb{R}, & \text{if } k=0 \\ \langle e_3 \rangle, & \text{if } k=1 \\ 0, & \text{if } k > 1 \end{cases}$$

Proof. The Chevalley-Eilenberg complex is reduced to

$$0 \xleftarrow{\partial_0} \mathbb{R} \xleftarrow{\partial_1} \mathfrak{g} \xleftarrow{\partial_2} \mathfrak{g}^{\wedge 2} \xleftarrow{\partial_3} \mathfrak{g}^{\wedge 3} \leftarrow \dots$$

$$\begin{aligned}
\mathfrak{g} &= \{e_1, e_2, e_3\} \\
\mathfrak{g}^{\wedge 2} &= \{e_1 \wedge e_2, e_2 \wedge e_3, e_1 \wedge e_3\} \\
\mathfrak{g}^{\wedge 3} &= \{e_1 \wedge e_2 \wedge e_3\} \\
\mathfrak{g}^{\wedge 4} &= 0
\end{aligned}$$

$$\begin{aligned}
\partial_1(e_1) &= 0, \partial_1(e_2) = 0, \partial_1(e_3) = 0 \\
\partial_2(e_1 \wedge e_2) &= [e_1, e_2] = 0 \\
\partial_2(e_2 \wedge e_3) &= [e_2, e_3] = e_1 - e_2 \\
\partial_2(e_1 \wedge e_3) &= [e_1, e_3] = -e_1
\end{aligned}$$

$$\begin{aligned}
\partial_3(e_1 \wedge e_2 \wedge e_3) &= (-1)^4 [e_1, e_2] \wedge e_3 + (-1)^6 [e_2, e_3] \wedge e_1 + (-1)^5 [e_1, e_3] \wedge e_2 \\
&= (e_1 - e_2) \wedge e_1 + e_1 \wedge e_2 \\
&= e_1 \wedge e_1 - e_2 \wedge e_1 + e_1 \wedge e_2 \\
&= 2(e_1 \wedge e_2)
\end{aligned}$$

$$\begin{aligned}
H_0^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_0}{\text{im } \partial_1} = \frac{\mathbb{R}}{\langle 0 \rangle} = \mathbb{R} \\
H_1^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_1}{\text{im } \partial_2} = \frac{\langle e_1, e_2, e_3 \rangle}{\langle e_1 - e_2, -e_1 \rangle} = \langle e_3 \rangle \\
H_2^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_2}{\text{im } \partial_3} = \frac{\langle e_1 \wedge e_2 \rangle}{\langle 2(e_1 \wedge e_2) \rangle} = \langle 0 \rangle \\
H_3^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_3}{\text{im } \partial_4} = \frac{\langle 0 \rangle}{\langle 0 \rangle} = \langle 0 \rangle
\end{aligned}$$

□

Theorem 3.5 (Bianchi V): Let $\mathfrak{g} = \text{span}\{e_1, e_2, e_3\}$ be a Lie algebra isomorphic to **Bianchi V**, given by the brackets $[e_1, e_2] = 0, [e_2, e_3] = e_2, [e_3, e_1] = e_1$. Then,

$$H_k^{Lie}(\mathfrak{g}) = \begin{cases} \mathbb{R}, & \text{if } k=0 \\ \langle e_3 \rangle, & \text{if } k=1 \\ \langle e_1 \wedge e_2 \rangle, & \text{if } k=2 \\ \langle e_1 \wedge e_2 \wedge e_3 \rangle, & \text{if } k=3 \\ 0, & \text{if } k > 3 \end{cases}$$

Proof. The Chevalley-Eilenberg complex is reduced to

$$0 \xleftarrow{\partial_0} \mathbb{R} \xleftarrow{\partial_1} \mathfrak{g} \xleftarrow{\partial_2} \mathfrak{g}^{\wedge 2} \xleftarrow{\partial_3} \mathfrak{g}^{\wedge 3} \leftarrow \dots$$

$$\begin{aligned}
\mathfrak{g} &= \{e_1, e_2, e_3\} \\
\mathfrak{g}^{\wedge 2} &= \{e_1 \wedge e_2, e_2 \wedge e_3, e_1 \wedge e_3\} \\
\mathfrak{g}^{\wedge 3} &= \{e_1 \wedge e_2 \wedge e_3\} \\
\mathfrak{g}^{\wedge 4} &= 0
\end{aligned}$$

$$\begin{aligned}
\partial_1(e_1) &= 0, \partial_1(e_2) = 0, \partial_1(e_3) = 0 \\
\partial_2(e_1 \wedge e_2) &= [e_1, e_2] = 0 \\
\partial_2(e_2 \wedge e_3) &= [e_2, e_3] = e_2
\end{aligned}$$

$$\partial_2(e_1 \wedge e_3) = [e_1, e_3] = -e_1$$

$$\begin{aligned}\partial_3(e_1 \wedge e_2 \wedge e_3) &= (-1)^4[e_1, e_2] \wedge e_3 + (-1)^6[e_2, e_3] \wedge e_1 + (-1)^5[e_1, e_3] \wedge e_2 \\ &= e_2 \wedge e_1 + e_1 \wedge e_2 \\ &= 0\end{aligned}$$

$$H_0^{Lie}(\mathfrak{g}) = \frac{\ker \partial_0}{\text{im} \partial_1} = \frac{\mathbb{R}}{(0)} = \mathbb{R}$$

$$H_1^{Lie}(\mathfrak{g}) = \frac{\ker \partial_1}{\text{im} \partial_2} = \frac{\langle e_1, e_2, e_3 \rangle}{\langle e_2, -e_1 \rangle} = \langle e_3 \rangle$$

$$H_2^{Lie}(\mathfrak{g}) = \frac{\ker \partial_2}{\text{im} \partial_3} = \frac{\langle e_1 \wedge e_2 \rangle}{(0)} = \langle e_1 \wedge e_2 \rangle$$

$$H_3^{Lie}(\mathfrak{g}) = \frac{\ker \partial_3}{\text{im} \partial_4} = \frac{\langle e_1 \wedge e_2 \wedge e_3 \rangle}{(0)} = \langle e_1 \wedge e_2 \wedge e_3 \rangle \quad \square$$

Theorem 3.6 (Bianchi VI_h): Let $\mathfrak{g} = \text{span}\{e_1, e_2, e_3\}$ be a Lie algebra isomorphic to **Bianchi VI_h**, given by the brackets $h \leq 0$, $[e_1, e_2] = 0$, $[e_2, e_3] = e_1 - he_2$, $[e_3, e_1] = he_1 - e_2$. Then,

$$H_k^{Lie}(\mathfrak{g}) = \begin{cases} \mathbb{R}, & \text{if } k=0 \\ \frac{\langle e_1, e_2, e_3 \rangle}{\langle e_1 + e_2 \rangle}, & \text{if } k=1 \text{ and } h = -1 \\ \langle e_3 \rangle, & \text{if } k=1 \text{ and } h \neq -1 \\ \langle e_1 \wedge e_3 - e_2 \wedge e_3 \rangle, & \text{if } k=2 \text{ and } h = -1 \\ \langle e_1 \wedge e_2 \rangle, & \text{if } k=2 \text{ and } h = 0 \\ \langle 0 \rangle, & \text{if } k=2 \text{ and } h \neq -1 \text{ and } h \neq 0 \\ \langle e_1 \wedge e_2 \wedge e_3 \rangle, & \text{if } k=3 \text{ and } h = 0 \\ 0, & \text{else.} \end{cases}$$

Proof. The Chevalley-Eilenberg complex is reduced to

$$0 \xleftarrow{\partial_0} \mathbb{R} \xleftarrow{\partial_1} \mathfrak{g} \xleftarrow{\partial_2} \mathfrak{g}^{\wedge 2} \xleftarrow{\partial_3} \mathfrak{g}^{\wedge 3} \xleftarrow{\partial_4} \dots$$

$$\mathfrak{g} = \{e_1, e_2, e_3\}$$

$$\mathfrak{g}^{\wedge 2} = \{e_1 \wedge e_2, e_2 \wedge e_3, e_1 \wedge e_3\}$$

$$\mathfrak{g}^{\wedge 3} = \{e_1 \wedge e_2 \wedge e_3\}$$

$$\mathfrak{g}^{\wedge 4} = 0$$

$$\partial_1(e_1) = 0, \partial_1(e_2) = 0, \partial_1(e_3) = 0$$

$$\partial_2(e_1 \wedge e_2) = [e_1, e_2] = 0$$

$$\partial_2(e_2 \wedge e_3) = [e_2, e_3] = e_1 - he_2$$

$$\partial_2(e_1 \wedge e_3) = [e_1, e_3] = -he_1 + e_2$$

$$\begin{aligned}\partial_3(e_1 \wedge e_2 \wedge e_3) &= (-1)^4[e_1, e_2] \wedge e_3 + (-1)^6[e_2, e_3] \wedge e_1 + (-1)^5[e_1, e_3] \wedge e_2 \\ &= (e_1 - he_2) \wedge e_1 + (he_1 - e_2) \wedge e_2 \\ &= e_1 \wedge e_1 - he_2 \wedge e_1 + he_1 \wedge e_2 - e_2 \wedge e_2 \\ &= 2h(e_1 \wedge e_2)\end{aligned}$$

Note that $\ker \partial_2 = \langle e_1 \wedge e_2, e_1 \wedge e_3 - e_2 \wedge e_3 \rangle$ if $h = -1$, and $\ker \partial_2 = \langle e_1 \wedge e_2 \rangle$ if $h = 0$. Also, $\ker \partial_3 = \langle e_1 \wedge e_2 \wedge e_3 \rangle$ if $h = 0$, and $\ker \partial_3 = \langle 0 \rangle$ if $h \neq 0$. We then have

$$\begin{aligned}
H_0^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_0}{\text{im} \partial_1} = \frac{\mathbb{R}}{\langle 0 \rangle} = \mathbb{R} \\
H_1^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_1}{\text{im} \partial_2} = \frac{\langle e_1, e_2, e_3 \rangle}{\langle e_1 - he_2, -he_1 + e_2 \rangle} = \begin{cases} \frac{\langle e_1, e_2, e_3 \rangle}{\langle e_1 + e_2 \rangle}, & \text{if } h = -1 \\ \langle e_3 \rangle, & \text{if } h \neq -1. \end{cases} \\
H_2^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_2}{\text{im} \partial_3} = \frac{\ker \partial_2}{\langle 2h(e_1 \wedge e_2) \rangle} = \begin{cases} \langle e_1 \wedge e_3 - e_2 \wedge e_3 \rangle, & \text{if } h = -1 \\ \langle e_1 \wedge e_2 \rangle, & \text{if } h = 0 \\ \langle 0 \rangle, & \text{if } h \neq -1, 0 \end{cases} \\
H_3^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_3}{\text{im} \partial_4} = \frac{\ker \partial_3}{\langle 0 \rangle} = \begin{cases} \langle e_1 \wedge e_2 \wedge e_3 \rangle, & \text{if } h = 0 \\ 0, & \text{if } h \neq 0. \end{cases} \quad \square
\end{aligned}$$

Theorem 3.7 (Bianchi VII_h): Let $\mathfrak{g} = \text{span}\{e_1, e_2, e_3\}$ be a Lie algebra isomorphic to **Bianchi VII_h**, given by the brackets $h \geq 0, [e_1, e_2] = 0, [e_2, e_3] = e_1 - he_2, [e_3, e_1] = he_1 + e_2$. Then,

$$H_k^{Lie}(\mathfrak{g}) = \begin{cases} \mathbb{R}, & \text{if } k=0 \\ \langle e_3 \rangle, & \text{if } k=1 \\ \langle e_1 \wedge e_2 \rangle, & \text{if } k=2 \text{ and } h = 0 \\ 0, & \text{if } k=2 \text{ and } h \neq 0 \\ \langle e_1 \wedge e_2 \wedge e_3 \rangle, & \text{if } k=3 \text{ and } h = 0 \\ 0, & \text{else.} \end{cases}$$

Proof. The Chevalley-Eilenberg complex is reduced to

$$0 \xleftarrow{\partial_0} \mathbb{R} \xleftarrow{\partial_1} \mathfrak{g} \xleftarrow{\partial_2} \mathfrak{g}^{\wedge 2} \xleftarrow{\partial_3} \mathfrak{g}^{\wedge 3} \xleftarrow{\partial_4} \mathfrak{g}^{\wedge 4} \xleftarrow{\partial_5} \dots$$

$$\begin{aligned}
\mathfrak{g} &= \{e_1, e_2, e_3\} \\
\mathfrak{g}^{\wedge 2} &= \{e_1 \wedge e_2, e_2 \wedge e_3, e_1 \wedge e_3\} \\
\mathfrak{g}^{\wedge 3} &= \{e_1 \wedge e_2 \wedge e_3\} \\
\mathfrak{g}^{\wedge 4} &= 0
\end{aligned}$$

$$\begin{aligned}
\partial_1(e_1) &= 0, \partial_1(e_2) = 0, \partial_1(e_3) = 0 \\
\partial_2(e_1 \wedge e_2) &= [e_1, e_2] = 0 \\
\partial_2(e_2 \wedge e_3) &= [e_2, e_3] = e_1 - he_2 \\
\partial_2(e_1 \wedge e_3) &= [e_1, e_3] = -he_1 - e_2
\end{aligned}$$

$$\begin{aligned}
\partial_3(e_1 \wedge e_2 \wedge e_3) &= (-1)^4 [e_1, e_2] \wedge e_3 + (-1)^6 [e_2, e_3] \wedge e_1 + (-1)^5 [e_1, e_3] \wedge e_2 \\
&= (e_1 - he_2) \wedge e_1 + (he_1 + e_2) \wedge e_2 \\
&= e_1 \wedge e_1 - he_2 \wedge e_1 + he_1 \wedge e_2 + e_2 \wedge e_2 \\
&= 2h(e_1 \wedge e_2)
\end{aligned}$$

Note that $\ker \partial_3 = \langle e_1 \wedge e_2 \wedge e_3 \rangle$ if $h = 0$, and $\ker \partial_3 = \langle 0 \rangle$ if $h \neq 0$. We then have

$$\begin{aligned}
H_0^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_0}{\text{im} \partial_1} = \frac{\mathbb{R}}{\langle 0 \rangle} = \mathbb{R} \\
H_1^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_1}{\text{im} \partial_2} = \frac{\langle e_1, e_2, e_3 \rangle}{\langle e_1 - h e_2, -h e_1 - e_2 \rangle} = \langle e_3 \rangle \\
H_2^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_2}{\text{im} \partial_3} = \frac{\langle e_1 \wedge e_2 \rangle}{\langle 2h(e_1 \wedge e_2) \rangle} = \begin{cases} \langle e_1 \wedge e_2 \rangle, & \text{if } h = 0 \\ 0, & \text{if } h \neq 0 \end{cases} \\
H_3^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_3}{\text{im} \partial_4} = \frac{\ker \partial_3}{\langle 0 \rangle} = \begin{cases} \langle e_1 \wedge e_2 \wedge e_3 \rangle, & \text{if } h = 0 \\ 0, & \text{else.} \end{cases} \quad \square
\end{aligned}$$

Theorem 3.8 (Bianchi VIII): Let $\mathfrak{g} = \text{span}\{e_1, e_2, e_3\}$ be a Lie algebra isomorphic to **Bianchi VIII**, given by the brackets $[e_1, e_2] = -e_3, [e_2, e_3] = e_1, [e_3, e_1] = e_2$. Then,

$$H_k^{Lie}(\mathfrak{g}) = \begin{cases} \mathbb{R}, & \text{if } k=0 \\ \langle e_1 \wedge e_2 \wedge e_3 \rangle, & \text{if } k=3 \\ 0, & \text{if } k > 0 \text{ and } k \neq 3 \end{cases}$$

Proof. The Chevalley-Eilenberg complex is reduced to

$$0 \xleftarrow{\partial_0} \mathbb{R} \xleftarrow{\partial_1} \mathfrak{g} \xleftarrow{\partial_2} \mathfrak{g}^{\wedge 2} \xleftarrow{\partial_3} \mathfrak{g}^{\wedge 3} \xleftarrow{\partial_4} \dots$$

$$\begin{aligned}
\mathfrak{g} &= \{e_1, e_2, e_3\} \\
\mathfrak{g}^{\wedge 2} &= \{e_1 \wedge e_2, e_2 \wedge e_3, e_1 \wedge e_3\} \\
\mathfrak{g}^{\wedge 3} &= \{e_1 \wedge e_2 \wedge e_3\} \\
\mathfrak{g}^{\wedge 4} &= 0
\end{aligned}$$

$$\begin{aligned}
\partial_1(e_1) &= 0, \partial_1(e_2) = 0, \partial_1(e_3) = 0 \\
\partial_2(e_1 \wedge e_2) &= [e_1, e_2] = -e_3 \\
\partial_2(e_2 \wedge e_3) &= [e_2, e_3] = e_1 \\
\partial_2(e_1 \wedge e_3) &= [e_1, e_3] = -e_2
\end{aligned}$$

$$\begin{aligned}
\partial_3(e_1 \wedge e_2 \wedge e_3) &= (-1)^4 [e_1, e_2] \wedge e_3 + (-1)^6 [e_2, e_3] \wedge e_1 + (-1)^5 [e_1, e_3] \wedge e_2 \\
&= -e_3 \wedge e_3 + e_1 \wedge e_1 + e_2 \wedge e_2 \\
&= 0
\end{aligned}$$

$$\begin{aligned}
H_0^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_0}{\text{im} \partial_1} = \frac{\mathbb{R}}{\langle 0 \rangle} = \mathbb{R} \\
H_1^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_1}{\text{im} \partial_2} = \frac{\langle e_1, e_2, e_3 \rangle}{\langle -e_3, e_1, -e_2 \rangle} = \langle 0 \rangle \\
H_2^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_2}{\text{im} \partial_3} = \frac{\langle 0 \rangle}{\langle 0 \rangle} = \langle 0 \rangle \\
H_3^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_3}{\text{im} \partial_4} = \frac{\langle e_1 \wedge e_2 \wedge e_3 \rangle}{\langle 0 \rangle} = \langle e_1 \wedge e_2 \wedge e_3 \rangle \quad \square
\end{aligned}$$

Theorem 3.9 (Bianchi IX): Let $\mathfrak{g} = \text{span}\{e_1, e_2, e_3\}$ be a Lie algebra isomorphic to **Bianchi IX**, given by the brackets $[e_1, e_2] = e_3, [e_2, e_3] = e_1, [e_3, e_1] = e_2$. Then,

$$H_k^{Lie}(\mathfrak{g}) = \begin{cases} \mathbb{R}, & \text{if } k=0 \\ \langle e_1 \wedge e_2 \wedge e_3 \rangle, & \text{if } k=3 \\ 0, & \text{if } k > 0 \text{ and } k \neq 3 \end{cases}$$

Proof. The Chevalley-Eilenberg complex is reduced to

$$0 \xleftarrow{\partial_0} \mathbb{R} \xleftarrow{\partial_1} \mathfrak{g} \xleftarrow{\partial_2} \mathfrak{g}^{\wedge 2} \xleftarrow{\partial_3} \mathfrak{g}^{\wedge 3} \leftarrow \dots$$

$$\begin{aligned} \mathfrak{g} &= \{e_1, e_2, e_3\} \\ \mathfrak{g}^{\wedge 2} &= \{e_1 \wedge e_2, e_2 \wedge e_3, e_1 \wedge e_3\} \\ \mathfrak{g}^{\wedge 3} &= \{e_1 \wedge e_2 \wedge e_3\} \\ \mathfrak{g}^{\wedge 4} &= 0 \end{aligned}$$

$$\begin{aligned} \partial_1(e_1) &= 0, \partial_1(e_2) = 0, \partial_1(e_3) = 0 \\ \partial_2(e_1 \wedge e_2) &= [e_1, e_2] = e_3 \\ \partial_2(e_2 \wedge e_3) &= [e_2, e_3] = e_1 \\ \partial_2(e_1 \wedge e_3) &= [e_1, e_3] = -e_2 \end{aligned}$$

$$\begin{aligned} \partial_3(e_1 \wedge e_2 \wedge e_3) &= (-1)^4[e_1, e_2] \wedge e_3 + (-1)^6[e_2, e_3] \wedge e_1 + (-1)^5[e_1, e_3] \wedge e_2 \\ &= e_3 \wedge e_3 + e_1 \wedge e_1 + e_2 \wedge e_2 \\ &= 0 \end{aligned}$$

$$\begin{aligned} H_0^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_0}{\text{im } \partial_1} = \frac{\mathbb{R}}{\langle 0 \rangle} = \mathbb{R} \\ H_1^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_1}{\text{im } \partial_2} = \frac{\langle e_1, e_2, e_3 \rangle}{\langle e_3, e_1, -e_2 \rangle} = \langle 0 \rangle \\ H_2^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_2}{\text{im } \partial_3} = \frac{\langle 0 \rangle}{\langle 0 \rangle} = \langle 0 \rangle \\ H_3^{Lie}(\mathfrak{g}) &= \frac{\ker \partial_3}{\text{im } \partial_4} = \frac{\langle e_1 \wedge e_2 \wedge e_3 \rangle}{\langle 0 \rangle} = \langle e_1 \wedge e_2 \wedge e_3 \rangle \quad \square \end{aligned}$$

Remark 3.10 From the theorems above, one notices that the Lie algebras **Bianchi V**, **Bianchi VI_h** and **Bianchi VII_h** have the same homology when $h = 0$, **Bianchi IV**, and **Bianchi VII_h** have the same homology when $h \neq 0$, and the Lie algebras **Bianchi VIII** and **Bianchi IX** have the same homology.

Acknowledgements

This paper was written to fulfill the capstone requirement for my bachelor's degree at Georgia College & State University, under the supervision of Dr. Guy Biyogmam.

References

- [1] **Bianchi**, Luigi: *Sugli spazi a tre dimensioni che ammettono un gruppo continuo di movimenti*. Memorie di Matematica e di Fisica della Societa Italiana delle Scienze, Serie Terza, vol. 11, 1898
- [2] Humphreys, J. E.: *Introduction to Lie Algebras and Representation Theory*,. Springer-Verlag, New York-Heidelberg-Berlin, 1972.